
TABLE 3-7.  Induced terminations of pregnancy by county of residence
and county of occurrence, Oregon occurrence, 2013

County of
residence

Total

County of occurrence

Ben-
ton

Clack-
amas

Desc-
hutes

Har-
ney

Jack-
son

Lane Marion
Multno-

mah
Wash-
ington

Yam-
hill

Total ............... 8,287 18 7 352 1 529 883 628 5,333 460 76

Baker .............. 7 – – 2 – – 1 – 4 – –
Benton ............ 127 12 – – – – 23 49 32 6 5
Clackamas ...... 611 1 3 1 – – 1 9 563 30 3
Clatsop ........... 61 – – – – – – – 58 3 –
Columbia ........ 91 – – – – – – 1 79 11 –
Coos ............... 84 – – – – 1 58 5 20 – –

Crook .............. 19 – – 18 – – – – 1 – –
Curry ............... 21 – – 1 – 11 5 – 4 – –
Deschutes ....... 304 – – 272 – – 2 1 29 – –
Douglas .......... 130 – – 1 – 5 92 4 27 1 –
Gilliam ............. 2 – – – – – – – 2 – –
Grant ............... 6 – – 5 – – – – 1 – –

Harney ............ 4 – – 4 – – – – – – –
Hood River ...... 24 – – – – – – – 24 – –
Jackson .......... 357 – – 2 – 307 22 1 25 – –
Jefferson ......... 29 – – 21 – 2 – – 6 – –
Josephine ....... 151 – – – – 115 18 – 18 – –
Klamath .......... 88 – – 10 – 58 9 2 9 – –

Lake ................ 6 – – 3 – 2 – – 1 – –
Lane ................ 737 2 – 2 – 12 594 14 101 5 7
Lincoln ............ 81 1 – – – 1 15 24 36 – 4
Linn ................. 141 2 – 1 – – 31 61 41 4 1
Malheur ........... 8 – – 3 1 – – – 4 – –
Marion ............. 529 – – – – – 1 359 139 14 16

Morrow ............ 2 – – – – – – – 2 – –
Multnomah ...... 2,557 – 1 – – – 3 4 2,472 74 3
Polk ................. 81 – – – – – – 50 23 2 6
Sherman ......... – – – – – – – – – – –
Tillamook ........ 27 – – – – – – 4 20 2 1
Umatilla ........... 18 – – 1 – – – – 17 – –

Union .............. 4 – – – – – – – 4 – –
Wallowa .......... 2 – – – – – – – 2 – –
Wasco ............. 38 – – – – – – – 38 – –
Washington ..... 1,024 – 3 – – – 1 6 728 286 –
Wheeler .......... – – – – – – – – – – –
Yamhill ............ 137 – – – – – 1 30 65 11 30

Out of state ..... 777 – – 5 – 15 6 4 736 11 –
Not stated ....... 2 – – – – – – – 2 – –

– Quantity is zero.


